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H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 Rl |H23 it
wenng| 775 | 25 | 70 | esy | es | 68 | 675 | 6545 | 615 | —1075
segkst| 395 | 3705 | 375 | 365 | 355 | 3445 | 335 | 3245 | 32K |- 15
wakst| 3875 | 3505 | 334 | 325 | 3345 | 3445 | 345 | 3345 | 355 |- 35
FEaslEk| 1~473 | 2~505 | 2~605 | 2~TH | 2~85 | 2~97J5 |3~11J7 | 3~13 5 | 3~15 7 —
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SCRIHE (Fh— 7 | B, S, fe)
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2 BEMERERE (4E) (HA7 - 5HM)
H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | mieEmk
weEs | 6,400| 6,304 5,563 4,613| 4,254 3,017| 3,928 3,858 -70
ms|  6,233| 6,056 5,408] 4,510 4,152| 3,851 3,918] 3,799 -119
e 176|248 155 103 103 66 10 59 +49
3 HERYL (4E) (HLAT - 8H)
He3 | H24 | H25 | H26 | H27 | H28 | H29 | H30 R1 |wiemL
W | 13.8 5 | 14.45 | 13,25 [ 18.7 5 [12.5 5 [12.0 5 |12.8 /5 | 1125 |(10.6 )| —0.6 %5
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